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SectionbA (Obyectlve typq émm:ons)
: : A/ngw_r all twelve questi.s.
Choose the correct answer :
‘1 Maximum efficiency of a half wave rectifier is :
(a) 40.6 %. (b) 812 %.
(c) 50 %. (d) 1.21 %.
The gain of-a‘cas'caded amplitier is equal to the :
(a) Product of individual gains. (b) Sum ot individual gains.
(c) . Ratio of stage gains. (d) None of these.
Transistor is a operated device. X
(a) Current. _ (b) Voltage.
(c) Both voltage and current. (d) None o! ihiese.

In an AM wave W1th 100 percent modulatlon each side band carries
transmitted power.

(a) One third. (b) Two third.
(¢) One sixth. (d) One hu!f
in the blanks with approprizte word or numerical vi, e -

The cbndition AB = 1 for oscillations i§ known as the —

criterion.
The percentage of regulation in an ideal rectifier is -

- —

Binary eqmvalent of A3D,; is

In a Kamaugh map, four adjacent 1s are called — ..

-
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: IH.‘ State ‘wfiéthéi{”ﬂré" following statements are true or false :
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The h’fgﬁ"er’ the' frequency of the wave, the longer. the length of the antenna.

The closed loop gain of an amplifier is always greater than the open loop gain.

A field effect t‘l‘;'a't;sisto; is basically a voltage controlied resistor.

Class C operétion is most efficient because it hardly operates during the input cycles.
. (12 x % = 3 weigh
Section B (Short Answer type questions)

Answer all nine questions.

Define the unit decibel for expressing : (i) voltage ; (ii) current ; and (iii) power.

‘What is méant by the Beta cut off frequency ?

Explain the term PIV in connection with a half wave rectifier.
Why a capacitor filter is better than the inductor filter ?

What is a Darlington pair ?

Distinguish between oscillators and amplifiers.

What is i'egulated power supply ?

Implement the logic expression Y = (A + B) (A’ + B') in a logic diagram. Construct the
table and hence show that the logic diagram is equivalent to an XOR gate.

Discuss the operation of a Half adder.
: : (9 x1=9 weigk
Section C (Short Essay or Paragraph questions)

: Answer any five questions from seven.
Why R-C coupling is the widely used coupling between the two stages of cascaded ampl

Find the values of Vg and Ay, for the transistor amplifier circuit shown below :
15V
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- Draw the cireuit diagram ofa volmmpler

. Fora Zener regulator circuit, VZ =12V,Rg=4KQ, R, = 6 KQ and the input voltage varies
from 30 V to 50 V “Pind. the maxmmm am! mmxmum values‘ of the Zener current.

,;j'Fmd the- Operatmg ftequemy ofa Hartley osc:llarur if LI = 100 uH, L, = 1 mH, mutual
: mductance between the CU‘I.‘: M=20 pI-f and C = 20 pF.

- Fhe peak-to~peak value of : aﬁ AM voltage hasa mammum value of 8V and a minimum valuc
“of 2V ‘What is the percentage modulatlon and the amphtude of the unmodulated carrier ?

v, Discuss. the. functmnmg of & J K Flip Flop with the help of a logic circuit.
(6 x 2 =10 weightuge
Section D (Essay questions)
Answer any two questions from three.

Describe the term feedback in amplifiers. Explain the principle of negative feedback and discuss
the advantages of negative focdback.

What is modulation ? Discuss frequency modulation. Explain the term carrier swing.

1 Whatis an Op-Amp ? State the characteristics of an ideal Op -Amp. Describe the use ot Op

Amp as an adder.

(2 x 4 = 8 weightuye



